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.u% [/ A functicn gensrator uses 1 Knpotentiometer to adjest the signal |
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amplitude. The input impedance of the amplifier is 100K~ paralled 5}'
with 30 pf. 1f the slider is on the 10% and 25% of the potentiometer,

how many times the minimum cut-off fraquency will be ? ( 20% )
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2 Dstermine the total equivalent Input noise per unit bandwidth for the
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2“7( amplifier as shown. If the amplifier ie operate at 2 KHz from a source

resistance of 1 X0, R; and R, are 200 Ksiand 1 Karespectively.
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{ Beltzmann's Constant = 1,38 x 10 3 w-sac /9K ) _ ( 20% )
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3 . In the circuit as shown, at t = 0 there is applied a symmetrical square-wave
Jb;}: signat of amplitude 10 V and frequency 3 KHz. Draw the first several cycles of

the output wavelorm, assuming that the capacitor is initially uncharged. { 204 )
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45 A pulse generator whose impedance is Hs= hsndelivers a 2-psec 8-V
j*ﬂz pulse te & Losslass RG-59/U ( Zo* 750 )coaxial cable and terminated in
60011, The one-way delay of the cable is 5 usec. PFind the voltage wave-

forms at the input and output of the cable. { 20% )
pulse
ge enerataor z, = 5
RG-59/U

& The four-diode gate is shown, if R, = R, = 100KQ, ¥V, =0, R, =% &, Ry = s,

R = 100 {2 (sat at its midpoint}, iV, =2 *9’ gl compute A, (V) . (V) (.20%)
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Rp,=100Kn.
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